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SN EEAEINSD
HH: ST (ASSX/2S - Ot
3

Jn
He
2
0x

SR IS E I (¢t &
SN (B) - MBEAY - B2 0l aF ol Soe HRZ2
10 At3l=XIEX 594,000 0 594,000
OZ=MEXNI=2E2EEY 594,000
= 265,000
= 329,000
HAaFSEI A2 751,600 658,800 92,800
J| 29,400
= 410,000
& 312,200
A3 2FHAD) | s&8 -3 102,800 118,800 A 16,000
308 XXX SOI& 102,800 118,800 A 16,000
01 MIXSHHIBAMNEEZ 102,800 118,800 16,000
O FG XM EHZA 48,800
O &5 & H A X K& 54,000
HHQoIEIfLHEHSH 590,000 540,000 50,000
= 410,000
& 180,000
307 QI2t0| A 540,000 540,000 0
= 410,000
= 130,000
10 Af2l=XIE X 540,000 540,000 0
DAoL HEHSA (0 2F) 540,000
= 410,000
== 130,000
403 XXISHES X201 50,000 0 50,000
01 AXESHMA2EE 50,000 0 50,000
OO AHIISEY 50,000
U MAHE HIHEHEHSE K& 58,800 0 58,800
J| 29,400
== 29,400
307 212t01A 58,800 0 58,800
J| 29,400
= 29,400
10 AtElSXIEX 58,800 0 58,800
CJHHMHZI S HEH I R 58,800
| 29,400
= 29,400
JEHEHLFG AR 1,013,000 1,121,425 A 108,425
= 848,000
= 165,000
HAFHoleE=ZHAS 62,100 100,000 A 37,900
201 LEt29H| 2,100 0 2,100
01 AP 22l 2,100 0 2,100
O=2gs< 2,100




SN GABAEIIED
3 OAIISHM(AESN /2K - O

Jn
He
2
0x

1,238,668

CHel: HECEOLAHSN EER-E
_ _ _ P NE e
SN -3H - S2A(2AH) - NRAY - BE= Ofl &4 Ol A4 Blusz
OOl QLS oo FA 4G 2,100
308 XXl & E0IH 60,000 60,000 0
01 IXSHHBLNEES 60.000 60,000 0
DILUESHLH LN 60,000
HEM2LSIHE 2 877,900 960,425 N82,525
2 775,000
& 102,900
308 XXl & S 0| & 877,900 960,425 82,525
2 775,000
= 102,900
01 UXSHMBL2ES 877.900 960,425 182,525
OHAMZLsIdESY 877,900
2 775,000
= 102,900
AL NSEIN ALY 73,000 61,000 12,000
32 73,000
308 XXl & E0IH 73,000 61,000 12,000
3 73,000
01 UXSHMIAEES 73,000 61,000 12,000
OHASHENLDSETX LAY 73,000
= 73,000
UHEE 25 270,000 242,420 27,580
F2oLaEEY 210,000 210,000 0
307 212+0| & 210,000 210,000 0
10 A= X 210,000 210,000 0
D=0y 210,000
dolx gy 50,000 12,420 37.580
201 Yere gl 5,000 4,420 580
03 A2 H| 5,000 4,420 580
OXNEHESHL DS 5,000
307 2I2+0| & 45,000 8,000 37,000
10 AEI=XEE 45,000 0 45,000
OMEASEIIL YT /A 30,000
OM2ASEIINS 15,000
A ESHD 10,000 20,000 ~10,000
307 2I2+0| & 10,000 10,000 0
10 AEI=XI2E 10,000 10,000 0
GRS ESELE ok 10,000
HEHAET 2,014,034 1,852,360 161,674
288,891




FA HEELEHIIEL

Ha: OMIIERHM(ANSZN /LR - IEL0A)
el GIEAUSE (B9 &2
_ _ _ Muo
SA BB H(BH) - MBAY - B2 Of) & o il i~ o HRs2
< 486,475
CIZARRALEARSLTR 28,512 0 28,512
308 XHXISHH SO 28,512 0 28,512
01 NXESHBLLSTS 28,512 0 28,512
(oM ZA R ALEAIR S S 28,512
CEEE IR 15,000 65,000 50,000
307 212H0I 15,000 65,000 50,000
10 ABl=XRE 15,000 65,000 A50,000
OO M ZARAALEANS S DS 15,000
O ZAT K 25X 3,600 3,600 0
308 XX EHH SO0 3,600 3,600 0
IR EREEE] 3,600 3,600 0
EEEIIESE 3,600
DT GHE Y LI A4 OHE K| 12,000 18,000 A6,000
308 X XIS S0 12,000 18,000 A6,000
B ERCES) 12,000 18,000 6,000
OY2MHEHLIMEES 12,000
< O OH T/ 31 Xt 72 2= K| & 19,298 19,665 A367
= 17,100
= 2,198
308 XHXIEHHI S0 19,298 19,665 A367
= 17,100
= 2,198
01 HXCSHBALSES 19,298 19,665 367
[ O OH T 6 K 7 25 X 19,298
= 17,100
= 2,198
2RI A OHOH 04 &9 KHEHRI ALY 91,278 90,400 878
= 75,195
= 16,083
308 XHXISHH SO 91,278 90,400 878
= 75,195
= 16,083
01 HXCSHBASES 91,278 90,400 878
OSBRI S EII S DS A 42,632
= 37,775
& 4,857
OB SLSALLBAL AL 48,646
= 37,420
= 11,206
OF &4 2 01 01 Al 81 & OF 2¢O} X & 64,093 79,388 A 15,295
=2 59,621




SN GABAEIIED
o OEIIEFM(AEZX/BS - HEL0S)
ool GRS (el &

(u]

A

M -3 - SHA(SAH) - MEAY -

0z
Jo
=
2=
12
20
Rl
1240
=
£
Ol
0y

el

in

4,472

308 NHXISHHMSOIE 64,093 79,388 N 15,295

59,621
4,472

oW

01 RXSHBARES 64,093 79,388 15,295

[J0F &4 20K ©1 ALS & 01 2 TH X & 64,093
59,621
4,472

o

M ELAUXNLIIHAK R (Z) 286, 142 258,098 28,044
143,071
143,071

S

H

307 2120l & 269,142 258,098 11,044

134,571
134,571

LES!

10 MaISXIEX 269, 142 258,098 11,044
S &332 S A= 269, 142

134,571
134,571

Hhn <

402 QI2tHE01M 17,000 0 17,000

8,500
8,500

>

01 2ItXEE X 17,000 0 17,000
HatuE)l|lNsSIHsE2H A 10,000

5,000
5,000
(RIZIY™IIsEL XA 7,000
3,500
3,500

<

LS!

IS =X LTI oH XX (AlZ) 530,634 465,845 64,789

469,008
61,626

<

308 AHXIEHSOIA 524,134 465,845 58,289

464,008
60, 126

mn >

x= 524,134 465,845 58,289
SEASIXNE 320,431
278,636
41,795
Ossgagis2d i 57,445
49,952
7,493
ONEZENHNESALE2E X 112,197
105,420
6,777
OWEZSALSAKNRE 10,925
9,500
1,425

MY me my

mn >
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2
z
12
20
i
121
o
EJ
Ol
0y

DHEZEgIl XS ESEEZ2 OS2I N 19,186
17,000
2,186
COtEZ STl ol A2l 2 HI X & 3,950
3,500

450

<

<

403 XXM SA201H 6,500 0 6,500

5,000
1,500

<

01 MUXIEHMAZE = 6,500 0 6,500
ESMEIIsEZNE 6,500

5,000
1,500

LES!

SEAUTLIIHRR AL (&) 230,670 160,670 70,000

160,029
70,641

<

307 QI12+0ld 230,670 160,670 70,000

160,029
70,641

<

10 At2ISXEX 230,670 160,670 70,000
OFASKNIHAEH2E NS 223,470

156,429

67,041

O0tsHEESXNIEd2Y 7,200

3,600

3,600

>

n >

Ol =Moo 126,582 152,954 N26,372

107,026
19,556

LS!

307 QI12t0IH 27,600 27,600 0

19,320
8,280

<

IS
>
for
M
>
HL
FA

27,600 27,600 0
27,600

19,320
8,280

O
W
>
[U_H
ron
(i
Ji
El
HU
IJ
e
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08

mn >

t

>

308 X+l

o

IS0I& 98,982 108,354 N9,372

87,706
11,276

LS!

01

P
d
o
o
0
ol

98,982 108,354 N9,372
98,982

87,706
11,276
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z
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0x
H
foh
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nix
M0
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FA HEELEHIIEL

Hu: HEIIEZHU(ASSN/2S - HELHY)
Sel e RASH (Etel: & e
_ _ _ Muo
SNBSS - HRAY - BHES 01l & o4 e HIRZE2
308 X+XlEHHISOIH 165,748 156,929 8,819
= 136,975
= 28,773
01 RAXESHBARES 165,748 156,929 8,819
[ OH OH I H K KT 21 A& 2 & X 2 81,105
= 71,865
= 9,240
DS HIIHA S ASS X & 84,643
= 65,110
= 19,533
SEAUNLTHKK AL (AlZ) 343,848 273,491 70,357
p 288,534
= 55,314
308 X+XlEHHISOIH 343,848 273,491 70,357
p 288,534
= 55,314
01 RXESHBARES 343,848 273,491 70,357
D&ZANGLASSX 2 215,894
p 187,734
= 28,160
D&ZANHNX R ST2 ALY 6,771
p 6,000
= 771
O&Z206H X2 2 H X & 13,543
p 12,000
= 1,543
OOS 0 &N AAHSY 107,640
p 82,800
= 24,840
IHEIH A RFI BRI I 80,129 76,820 3,309
p 71,000
= 9,129
308 XHXIEHHISOIH 80,129 76,820 3,309
p 71,000
= 9,129
01 RAXESHBALES 80,129 76,820 3,309
DS ZH R BN E2 8Ly 80,129
p 71,000
= 9,129
DIXIQA A2 S 16,500 0 16,500
308 XHXIEHHISOIH 16,500 0 16,500
01 HXSHBAEES 16,500 0 16,500
OOIX A EASYX 2 16,500
AYBINE2IEH 12,729,004 11,070,585 1,658,419
= 3,770,072
p 5,960,085




SH: GEEAEIIED

BE: (A (AMESN/ES - HEL0Y)
&l ALBINE2 LY (ctel: &
SN HB G (BH) - MRAY - BES 0l & e Hlm= 2
& 2,998,847
NESAS USRI AAS 196,430 180,570 15,860
= 151,100
= 45,330
308 AXIHMSOIA 196,430 180,570 15,860
=2 151,100
= 45,330
01 HXSMBLExSF 196,430 180,570 15,860
COIES S 2SR A A 196,430
=2 151,100
& 45,330
ABNESEX 2 45,000 45,000 0
307 QI2tol™ 45,000 45,000 0
10 At3IZ2XEx 45,000 45,000 0
OA2Itd ot o249 15,000
O8I E A 30,000
CH23ItE XA (XHA) 602,740 731,600 A 128,860
201 LetIH| 28,000 20,000 8,000
01 AFR 22| 28,000 20,000 8,000
Dget=&Hl 18,000
OU2EX2 22RO 9,000
OZ=20l2Hdst=2n 2t 9,000
O2g9s¢ 10,000
OU=2sEXNAAE s #L3+ 10,000
207 HIHEHI 30,000 0 30,000
01 A= S| 30,000 0 30,000
OC2IE NS EIIAHE =8 30,000
301 LEEAZ 36,000 36,000 0
01 AISIEE R =03 30,000 30,000 0
OZE0I8 & nsX& 30,000
10 At HIEAZ 6,000 6,000 0
OG22 SSEAE A AL 24 6,000
307 gI12told 245,000 315,000 270,000
10 AlRISXEX 245,000 315,000 A70,000
ZE012HAAEI IS 30,000
Oge =8 MELH 15,000
OUESsIEAAX 23 70,000
OOEsIIEXNJALRFIES2Y 30,000
OO 2SS 2R SAIS A AL 40,000
OGS IEE M2 LB 2 S 5,000
CICH2 3= QI AIDH & AL 50,000




A HEEALEIIE

Y Y ETEH(MI=EX/ES - IIFL0Y)
Cr9: HLBINESIEA CERE
l:‘}\_l X~ xH C|—O|(§I j:”) }\-“C‘}\I.O'l HASX2 AFOH I|_‘|LI;=|_|‘:_ ot
. o= T ° - (= S /= (L] 0:”{:'_% (=]
O=NZESHLSALLS 5,000
308 XX HHSO0IA 263,740 336,600 AT2,860
01 AXNSMBLNEES 263,740 336,600 AT2,860
ZE0PHE R ESRLR2I 160,000
OC2IESA 25 =H 15,000
OG2sIE= XA ES A=Y 30,240
OCEsIEEst2siE 4,500
OOEsIEN=S e 0tE 30,000
OZE02HdHEHI B LKA 24,000
OE2sIE A K& 137,400 162,400 A25,000
307 gI12told 105,000 130,000 A25,000
10 At3I=2 X2 X 105,000 130,000 A25,000
OO MASE=SEMANESE S 60,000
OSSR NENEHR S X 10,000
OO2shstdz2eteld Ed s A& 35,000
308 XX HHSO0IA 32,400 32,400 0
01 XN MBLEEXS 32,400 32,400 0
OC22=501FsS N HE 2SS 32,400
SIRL2IHEXI2 (KHA) 663,490 538,680 124,810
307 212t01A 40,000 0 40,000
10 At3I=2 X2 X 40,000 0 40,000
Ot 2IIENEsN2d 40,000
308 MHXIHHMSOIA 623,490 538,680 84,810
01 MHXStHBAEXZ 623,490 538,680 84,810
OetR2IIENE XN E 3 72,000
OstR2II2asA =2 | 202,200
OstL2oIEEHUE &3 218,400
OetR2II1=8dst=2z 5| 130,890
SIERIES X AE X2 (XA 237,538 180,237 57,301
308 MXIHHMSOIA 237,538 180,237 57,301
01 HXSHMBAEXS 237,538 180,237 57,301
Ot L2IUNESXAESAIX=Z(01Y) 12,096
O2ANESAIELAMUSHA (01 7,812
OStR2IIE=SNAE LA NS S 6,750
OstRELIIESINAIE2G X2 (01Y) 210,880
SIERIEXA(EX) 1,929,416 1,791,988 137,428
| 1,794,806
& 134,610
308 XXl & XS0l 1,929,416 1,791,988 137,428
Il 1,794,806




A HEEALEIIE

o HEIEFHU(ASSN/2S - HELHE)
CHol: AYBINE2HEY (Etel:&e)
- _ — N e
SN B ER(BH) - NREAY - BHES Of] & o i HRZ2

< 134,610

01 HXSHBAEES 1,929,416 1,791,988 137,428
OS2 @IENHEYS - DS X2 1,929,416
p 1,794,806
= 134,610

SHEDINEEXALXA(BX) 34,143 1,596,713 A 1,562,570
= 26,263
= 7,880

403 KHXISHHSAHEO0IH 34,143 1,596,713 A 1,562,570
= 26,263
= 7,880

01 IXISHAR =X 34,143 1,596,713 A 1,562,570
OsteetE=X A2 Y 34,143
= 26,263
= 7,880

=PNEL LD D 233,248 0 233,248
= 216,976
= 16,272

308 XHXIEHHISOIH 233,248 0 233,248
= 216,976
= 16,272

01 HXSHBAEES 233,248 0 233,248
BEPNEEEA=P/E E3=E 5=, 70,79
= 65,856
= 4,940
O A2 RIIS0S LS X 104,644
= 97,344
= 7,300
OFAES2BIIEZE T DAIS S 30,460
= 28,336
= 2,124
O AESSRIIENAS S H H X & 27,348
= 25,440
= 1,908

OIS 20/ X/ & 3,249,984 1,830,770 1,419,214
= 2,879,733
= 370,251

308 XHXIEHHISOIH 3,249,984 1,830,770 1,419,214
= 2,879,733
= 370,251

01 AXSHBAEEZ 3,249,984 1,830,770 1,419,214
[10H0I S 20/ X/ & 3,249,984
= 2,879,733
= 370,251

AYNYN AL S 644,800 442,800 202,000
= 496,000




A HEEALEIIE

HE: GEIIETH(ASEX/2S - HEL0IY)
el AYBINELFHEN (el @)
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2

= 148,800

308 XHXI G S 01 & 644,800 442,800 202,000
2 496,000
= 148,800

01 MXSHZAHSES 644,800 442,800 202,000
OALNENALE 2 426,400
2 328,000
= 98,400
OGRS tE X/ HE O] S 8t AR 218,400
3 168,000
= 50,400

ELBESERISEL DL 1,022,559 903,210 319,349
| 1,083,280
= 139,279

308 X+XI IS O & 1,222,559 903,210 319,349
| 1,083,280
= 139,279

01 MXSHBHEES 1,222,559 903,210 319,349
OGS =X aMEH 2 1,222,559
| 1,083,280
= 139,279

O2sisg2nsAd2 e 2,824,203 2,233,996 590,207
| 2,502,458
= 321,745

308 X+XIEHHI S O & 2,824,203 2,233,996 590,207
| 2,502,458
= 321,745

01 MXSHABAHEES 2,824,203 2,233,996 590,207
O0RstEg2ISAY2Y 2,824,203
| 2,502,458
= 321,745

2E0IDUKSHA MY AKIR 179,470 177,276 2,194
| 159,024
= 20,446

308 X+XI IS Ol & 179,470 177,276 2,194
| 159,024
= 20,446

01 MXSHHAZHEES 179,470 177,276 2,194
(2 E0I2I XS B & A B A X2 179,470
| 159,024
= 20,446

L BIES MELTOER= ! 371,874 152,225 219,649
| 329,509
= 42,365

308 X+XI IS Ol & 371,874 152,225 219,649
| 329,509

_11_




A
I‘IiH:
C}—Ol:

HAEAEIIE]

HEIIEEM(MSR/ES - IIE
AL E2a Ly

(u]

JUES

A

S BB SR (B) - NEAY - BAS &y Soe DB

S 42,365

01 UHXSHHBLE4EES 371,874 152,225 219,649
OGS0 2N & 371,874
Il 329,509
& 42,365

CE2sttsUnSAL 29 (XHH) 54,000 42,120 11,880

308 AXIEHSOIA 54,000 42,120 11,880

01 MXEHHMBdELS 54,000 42,120 11,880
OG22 A AR FHI A& 54,000

OE2sIENHOISHH XA 102,709 0 102,709
Jl 91,008
= 11,701

308 NXISHHSOIH 102,709 0 102,709
) 91,008
= 11,701

01 MXEHHMBSELS 102,709 0 102,709
OCE=HE01S AN KA 102,709
) 91,008
S 11,701

IS G LN ,006,745 918,194 88,551
= 431,722
= 96,660
S 478,363

Od=20tsHdEsH 492,480 445,632 46,848
= 96,660
= 395,820

307 2120l A 193,320 169,275 24,045
= 96,660
< 96,660

10 MaISXEX 193,320 169,275 24,045
O EAS X L2 (01) 193,320
= 96,660
= 96,660

308 KNHXISHHMSOIE 299, 160 276,357 22,803

01 UHXSHHBLE4EES 299,160 276,357 22,803
OOtEAE LS X (01) 162,000
O 20tsHEd s X 60,000
OAEAEHNMEXIR(01) 15,000
OadAdtd S8 s 9,000
OAEAENELINERE OIS Isu= 13,950
OAEAHIELINE 2 E0tS 1 = 14,625
OAEAEIEAIEREISEEY 24,585

R PPN 5,000 25,000 220,000

_12_




SN GABAEIIED
BB Ol &SR (A
(o]

[
Jt
ha
H
Ho
o
J
e
2
0x

Sol JINSIS YA A (erel: @2
_ _ _ Muo
SA - SR(E) - HRAY - BES 01l &4 24 i HIRE

307 ©I2r0IM 5,000 25,000 220,000

10 ABIEXEE 5,000 25,000 20,000
(13200 ALK R 5,000

HESISOISANEHENS 9,367 116,201 A 19,834
= 67,457
= 28,910

307 QI2H0IH 9,367 116,201 A19,834
= 67,457
= 28,910

06 2aia 9,367 116,201 A 19,834
(SISO SAHEEENS 9,367
= 67,457
= 28,910

HjoISAYASEES 45,914 43,850 2,064
= 40,684
= 5,230

308 XXl EHHISOIH 45,914 43,850 2,064
= 40,684
= 5,230

01 RXESHBARES 45,914 43,850 2,064
OIS YISS2ES 45,914
= 40,684
= 5,230

YyrrzXH 7,000 10,010 £3,010
= 4,900
= 2,100

308 XiXlEHRISOIH 7,000 10,010 £3,010
= 4,900
= 2,100

01 RXESHBARES 7,000 10,010 A3,010
Ogegs+ENd 7,000
= 4,900
< 2,100

YyotSUELY 338,436 253,492 84,944
= 299,880
= 38,556

308 XXl EHHISOIH 338,436 253,492 84,944
= 299,880
= 38,556

01 RXESHBARES 338,436 253,492 84,944
(YOS YKL N 2 338,436
= 299,880
= 38,556

oo JtESIE OIS ARIXIZ I 21,548 24,009 N2,461
= 18,801

_13_




SN

I‘l iH:

WMNXH”WMEEIUEE-ﬂﬁ

(u]

A

JUES

Chel: JtE SIS N ciol: 2
SN MO (EIH) - MR A Aro e =2
& 2,747
307 212t01& 1,569 1,569 0
= 1,08
& 471
10 AtsIZ2XE X 1,569 1,569 0
02 - A0S EH AL 1,569
= 1,098
& 471
308 MXIHHMSOIA 19,979 22,440 A2,461
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01 RXESHBABES 91,800 117,300 £25,500
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HERBTLAAL 600 600 0
303 T&2 600 600 0
01 T4 600 600 0
O2SYPRTTLAY 600
HEANLEANL S DS 115,806 115,806 0
= 57,903
= 57,903
307 CI2H0IH 115,806 115,806 0
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= 23,628,780
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SEFHNEHS 148,000 146,000 2,000
307 212t0| 108,000 106,000 2,000
10 AlRISXEX 108,000 106,000 2,000
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_17_




SN
X XH .
S Tt

el

Ol s A IS
PROISAAS

SEAHUIAXR

N ]

ni;
x

M (A SX/E| - Dt

SN B SRA(EH) - MBEASY - Aro CEE Hlm= 2
Oil &k o8
OJHOOIESE2 03 2HH| 30,000
OOEsEANEES X 40,000
IESFHILIHAES X 10,000
308 MHXIHHMSOIA 30,000 50,000 220,000
01 AXSMBAEEXS 30,000 50,000 A20,000
Ogotel s XI& 30,000
403 X SHMSAH=201H 100,000 0 100,000
01 MXEMA=E =X 100,000 0 100,000
OJEsSZEBHdEHINEHIXI& 100,000
HuE=8435 ,319,200 2,470,200 A 151,000
308 XX HHSO0IA ,319,200 2,470,200 A 151,000
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= 150,000
OYS0ISESHSIBEANNAG LY 21,600




SN OEEAEINSD
HE: AMOISHLASAS

=

HT
fon
>
ton
I
>
H
e
0x
b
[

ool OISR - =2XE (=CR-L
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
0 & 24

CIOtSS U EE MY 10,000

308 NXIHHSOIH 195,120 191,390 3,730

01 AXNSMBLNEES 195,120 191,390 3,730
OXNSOISESHERI 22 XA(01Y) 180,000
OG0t sESE 2 2BANREE 15,120

ANEOIsSHEEY 1,267,766 1,256,228 11,538
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